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COMPUTER SCIENCE

Paper : COMO20O104

( Computer Organization )

Full Marks : 6O

Time : 2Yz hours

' The figures in the margln indicate
full marks for the questlons.

Answer either in English or in Assamese.

1. Answer the following questions as directed :

1 x8=8

\5Es fiat arn+q< M,"ilT{IPr Es< frqn :

(a) Program co.unter (PC) is a general
purpose register. (State tnte or false)

e'dNo.Bfi< €Bt general purpose register I

(e6 cq \4vw 649
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known as 

-(Fitl in tfu Uto*1

?Es code lfr q-+ TH t

1rfr tP 5't o<t)

ld 
- 

is a grouP of electrical wires|-,
used to send information between two
or more components. (Fill in tle blank)

n r osr-r-rR-s qrFr {rqs sq] qffiq <FqT{

(d)

cqr$ hTI&$ sll<l-q qieEs -- * - 
C{IFI I

@tfr tYl "1<'t o<t)

A control unit whose binary control
variables are stored in memory is called
a microprogrammed control unit'

(State true or false)

€bt control unit {f< ?Tg control variable

(<I< clqRs qi{$s ?q clt(s, src
microprogrammed control unit Cdail Q-{ I

(eq cq qvla fuqD

(e) Full form of RISC is
(Fill in the blank)

Rrsc < 1{{q qh 

-l

&tfr tP tEt wD
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(b) Gray code is also
binary code.

Gray code S 

-

a

(g)

@

DRAM requires an external memory
refresh. (State tnte or false)
DRAM s <Ifr-$ CnnR refresh qICaf 

r

(eq a qvq frq|
In program controlteci l/O, the transfer
of data is completely under the control
of the microprocessor program.

(State true or false)

(vq d qsq frqt)
rpicroprocessor is an

bit microprocessor.
(Fill in t?e blank)

8085 microprocessor ,{Bf _ Uit
mlcroprocessor e-{ I (41fr *t7 7Ert oql

Answer ang slx of the following questions :

2x6=12

frralrqt ryA eFK EE< fr"n s

(a) What is control unit ?

Control unit ft ?

(b) Name ang twospecial purpose registers.

esN fiTEs I/o s scf-< Erffg- r-'l'fu<
microprocessor program < qfrqg q{ I

The 80815

2.

frc6w ffl fu o.t6q <trE <r<qr< exr
register?tr nm frq f
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(c) What is meant by micro-operation ?

Micro-operation ft?

(d) What is meant by instruction format ?

Instruction format $lcE ft lq'f z

(e) What is binary adder ?

Binary adder ft r

A What is SRAM ?

SRAM frz

(g) What is virtual memory ?

Virtual memory fr ?

(h) What is interrupt ?

Interrupt fr ?

I What is DMA ?

oue frz

0 Name any two arithmetic instructions
of 8085 microprocessor.

8085 microprocessor < frrofcqT fBt
arithmetic instruction { qtn fr"ff r
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3. Answer ang fourof the following questions :

5x4=2O

frrctcqt Dtffit eFeK B€< fr"ll :

(a) Write a brief description of basic
functional blocks of a computer.

sF rEB<< ffifr-s otffi block < ebt ET.

<{n fin r

(b) How are floating point numbers
represented in computer ? Explain.

floating point number C$ftr$
qfrfrfAy $-{t qn? il{II.s?rf I

(c) How are signed numbers represented ?

Signed numbers 6q6 6+,ffiq A&frfRy $Tf
q{?

(d) Design an arithmetic circuit that can
perform seven different arithmetic
operations-add, add with carry,
subtract, subtract with borrow,
increment, decrement and transfer.

Add, add with carry, subtract, subtract
with borrow, increment, decrement qFF

transfer operation c<'f< oR<?q eEI
arithmetic circuit &q-El m-{tr
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(e) Briefly explain logic micro-operations'

Logic micro-o

Differentiate between CISC and RISC

architectures. 
i

Rrsc qFF CISC Rt'lsJ< "ttcFsl c<K frq t

Explain ang tttto cache replacement
policies.

frT{rtd'llDI cache replacement policie {
<ll"l]t +Ef t

Explain intermpt-driven I/O and DMA-

controlled I/O.

InterruPt-driven I/O qFF DMA-

controlled I/O< <ltcUl s{t t

Describe data transfer instructions of

8085 microProcessor'

8085 microprocessor { data transfer

instruction C{FI <'f*t o{t I
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perations < ET. <it$l fu t

(b)

(c)

(d)

(e)

4.

A Briefly explain instruction cycle'

Instruction cYcle < DT. <I<l1l fu t

(g) What is cache memory ? Briefly explain
any one maPPing technique'

cache memoryftr frrPn+ €B maPPing

technique Tlt<[l O$ t

@ Briefly explain addressing mod'es in
8085.

8085 K addressing mode R{Iq< 5{.<il"ft

fi:n t

Answer ang tutoof the following question-s :

lOx2=20

fuE4 gAf ox €is< fr{ s

(a) Differentiate between hardwired control
unit and micro-programmed control
unit.

Hardwired control unit q[+- micro-

programmed control unit < tnqfq m<

fiql t
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